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(1) AU chA&E
Aol 2 =H VDSL
(=]
T = M M M stojor | MZVOSL | MZVOSL | srojo
== ~ofe sole | EYM | malojgy | ojmwo] | U
4 A 25,300 20,900 6,600 25,300 20,900 6,600
3 4 26,400 22,000 20,900 5,500 26,400 22,000 5,500
2 d 27,500 23,100 22,000 4,400 27,500 23,100 4,400
1 4 29,700 25,300 24,200 2,200 29,700 25,300 2,200
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?‘ _E_ M Z4 224 A 74 22l _ _ _
E8S | o285 | mouw | Mzzamly | welo SRR 1S goloy
4 26,290 21,890 7,590 26,290 7,590 23,100 14,300
3 4 28,380 23,980 5,500 28,380 5,500 25,300 12,100
2 A 29,480 25,080 4,400 29,480 4,400 27,500 9,900
1 4 31,680 27,280 2,200 31,680 2,200 30,800 6,600
Foby 33,880 29,480 - 33,880 - 37,400 -
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(2) ofg2 WS ErdatE
g BEXY hay
= 4,400 ofs} 7,700 o|st
(3) CIx|Y & ot A4E
Qg A 1=
B o8& gholoy olg8 aroloy
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Al 30,800 28,600 26,400 25,300 24,200

(B2) =9 2j0|E 24 200 22,000 19,800 18,700 -
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A R 15,400 13,200 11,000 8,800 7,700
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otz | ¢S | 7= 5,500 5,500 5,500 5,500 5,500{ 1,100 HHgkel
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s | P 5,500 5,500 5,500 5,500 5,500| 1,100€ o4&t
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e EEE] 15,400 13,200 11,000 8,800 7,700
°° k=3 19,800 17,600 15,400 13,200 12,100
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0PS ri=1-: 51,480 47,080 42,680 39,380 36,190
(clzw)| EI32golz=0l| 27,280 25,080 22,880 21,780 19,690
e R E] 15,400 13,200 11,000 8,800 7,700
- 1= 19,800 17,600 15,400 13,200 12,100
- PERES 42,680 38,280 33,880 30,580 27,390
=8 47,080 42,680 38,280 34,980 31,790
et Ze(o|A
EDRES 33,880 31,680 29,480 28,380 26,290 S 100M S
2lE ZyeHo| A 0| 29,480] 27,280 25,080 23,980 21,890
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DPS - Za=aolel| 36,080 33,880 31,680 30,580 28,490 cTH= 100N =
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2B e | 91680 20480 27,280 26,180 24,000 = ooy me
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AE) E | 754 5,500 5,500 5,500 5,500 5,500{ 1,100¢ =oHstol
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(EEEE RN | a6 20480 27,280 26,180 24,090 cpe 100y =
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(4) SE + AU

= SOFY | 1HoE | 2HSfH | sEHoHE | 4HoH =
= (5%) (10%) (15%) (20%) (30%) -
CI2H AQ= 35,530 27,720 23,375 20,240 16,170
ClX& s PRSI} 16,720 13,860 11,220 8,800 6,930
DPS =< =4 20,900 17,820 14,960 12,320 10,010
(Cl2=) N P 52,250 41,580 34,595 29,040 23,100
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A -
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JIZ=o2 MY s He 2 siot,
Fel stolgof olsl CIX|E dh&oh el Mgset

% S B CIZE ME 37} JKIA =5
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